

### Overview

- Pune is a sprawling city in the western Indian state of Maharashtra.
- Formerly spelled as Poona is the second largest city in the Indian State after Mumbai.
- The city is considered to be the cultural capital of Maharashtra.
- It was once the base of the Peshwas (Prime Ministers) of the Maratha Empire
- The climate of Pune is quite pleasant. Pune has three distinct seasons: summer, monsoon and winter. Summers are typically hot with maximum temperatures ranging from 35 to 42°C.
- The warmest month in Pune is generally April.







# Flight Matrix

Pune		Onward		Return			
Hubs	Airline	Time	Stops	Airline	Time	Stops	
Delhi	Vistara 720	10:15-12:30	Direct	Vistara 998	13:10-15:25	Direct	
Chennai	Indigo 311	11:40-13:15	Direct	Indigo 302	13:45-15:30	Direct	
Bangalore	Air Asia 1 <mark>426</mark>	12:15-13:40	Direct	Indigo 407	11:00-12:25	Direct	
Hyderabad	Spicejet 1215	11:00-12:20	Direct	Air India 514	15:05-16:10	Direct	
Kolkata	Spicejet 274	08:35-11:00	Direct	Spicejet 275	11:40-14:15	Direct	

### Average flight cost per pax is INR 7,700/-

Note:-\*\* Fares are subject to availability at the time of confirmation\*\* \*\*Cost at the time of booking will be applicable\*\*



## Aga Khan Palace

- A gracious building having Italian arches, salons, suites and spacious lawns.
- The place is a historical landmark.
- Must see is a photographic exhibition, paintings and very rare B&W photos of various epochs in the freedom movement.
- You can visit Samadhi of Kasturba Gandhi which is in the backyard.







## Pataleshwar Cave Temple

- The Pataleshwar Cave Temple (*also called Panchaleshvara or Bamburde*) is a rock-cut cave temple, carved out in the 8th century in the Rashtrakuta period.
- The temple, made of Basalt rock, is dedicated to the Hindu god Shiva.
- The temple was left incomplete, possibly because of a fault line found at the back of the sanctum sanctorum, which made the further sculpting unsafe, or political upheaval resulting in loss of
- A brass temple bell hangs outside the basalt entryway patronage.







### Shaniwar Wada

- This palace was built by the successors of Shivaji, the Peshwas in 1736. A massive fire destroyed the building in 1827.
- This palace is situated in the heart of the city next to Deccan Gymkhana, Shivajinagar, and Laxmi Road.
- It has become the symbol of Pune culture.
- There is an impressive 'Light & Sound Show' in three languages (Marathi, Hindi and English) every evening at the wada. It details the history of the Maratha empire and the significance of the Shaniwar wada in that history.







### Osho Ashram

- Osho is known for his revolutionary contribution to the science of inner transformation, with an approach to meditation that acknowledges the accelerated pace of contemporary life.
- OSHO Active Meditations are designed to first release the accumulated stresses of body and mind, so that it is then easier to take an experience of stillness and thought-free relaxation into daily life.
- It is a heady mix of spiritualism, and ancient, and modern idea of relaxation







# Suggested Itinerary

#### **Day 01:**

- Group arrives at Pune Airport.
- Transfer to the hotel.
- Check in at the Hotel.
- Lunch at the Hotel.
- Proceed for Sightseeing including:
  - Aga khan palace.
  - Light and sound show at Shaniwarwada.
- Transfer back to the hotel.
- Dinner at the hotel.







#### Day 02:

- Breakfast at the hotel.
- Visit Pataleshwar cave temple.
- Lunch at "Meera" (Osho ashram).
- Meditation at Osho ashram.
- Transfer back to the hotel.
- R&R followed by Gala dinner.
- Overnight stay at the hotel.







### Day 03:

- Breakfast at the hotel.
- Checkout.
- Proceed to Pune airport.
- Departure





## Hyatt Regency Pune

- Hyatt Regency Pune, Located just 3 kms from the international airport, offers the quintessential location for both business and leisure travelers.
- Enjoy the serene beauty of Pune with great outdoor dining venues, lush green surroundings, vitality pool and a host of rejuvenating recreational facilities.
- No. of rooms : 222









Room Name	Room Dimensions Length x Width x Height	Room Size Sq. Ft.	Banquet	Reception	Theatre	Classroom	Boardroom	U-Shape	Hollow Square	Cabaret
GROUND LEVEL										
Istana 1	36.4' x 72.8' x 19'	2,649.42	96	200	175	81	85	70	65	88
Istana 2	36.4' x 72.8' x 19'	2,649.42	96	200	175	81	85	70	65	88
Istana 1 + 2	72.8' x 72.8' x 19'	5,299.84	224	500	300	200	170	140	120	200
Istana Terrace	_	1,916	56	80	100	_	10	_	_	12
Maple	27.9' x 17.4' x 8.9'	480	12	20	-	-	10	12	-	12
Iris	27.9' x 16.7' x 8.9'	465	12	20	-	_	10	12	-	12
Aster	27.9' x 16.7' x 8.9'	465	12	20	_	=	10	12	-	12
Rose	27.9' x 16.7' x 8.9'	465	12	20	-	_	10	12	-	12
Maple + Iris + Aster + Rose	27.9' x 67.5' x 19'	1,883.25	88	100	100	72	50	50	36	88



### Marriott Suites Pune

- You can look forward to a comfortable, luxurious stay at Marriott Suites Pune. You'll find our hotel conveniently located in the upscale Koregaon Park neighbourhood.
- 20 minutes drive from pune airport. Marriott Suites Pune.
- Marriot Suites gives you easy access to the city's most popular points of interest, including Osho Ashram, Nitesh HUB and Mundhwa.







#### Convert Meters | Reset

Meeting Room	Dimensions (LxWxH)	Area (sq ft)	Theater	Schoolroom	Conference	U-Shape	Reception	Banquet
Business Center- Service Office	0x0x0	1,216						
Oak Room	205x10x0	2,021	150		50	50	150	50
Business Center	0x0x0	2,250	12		12			



### Conrad Pune

- Conrad Pune is the Hilton company's first luxury hotel in India.
- An iconic structure in the heart of Pune's dynamic central business district.
- The striking Conrad Pune is only minutes from major corporations, key government institutions and premier residential neighbourhoods.









Anthurium	234	13.00' x 18.00'	12	n/a	n/a	0	n/a	8	n/a	n/a
Arnica	345	23.00' x 15.00'	10	n/a	n/a	0	n/a	12	n/a	n/a
Aster	667	23.00' x 29.00'	12	36	60	40	60	n/a	16	20
Ballroom	8,001	63.00' x 127.00'	26	200	880	360	1,200	n/a	n/a	n/a
Ballroom Section 1	2,560	40.00' x 64.00'	26	90	260	120	350	n/a	42	50
Ballroom Section 2	2,880	45.00' x 64.00'	26	105	280	140	450	n/a	50	60
Ballroom Section 3	2,560	40.00' x 64.00'	26	90	260	120	350	n/a	42	50
Lavender	930	30.00' x 31.00'	11	n/a	n/a	0	n/a	12	n/a	n/a
Lilac	180	12.00' x 15.00'	10	n/a	n/a	0	n/a	8	n/a	n/a
Lily	180	12.00' x 15.00'	10	n/a	n/a	0	n/a	8	n/a	n/a
Lotus	450	30.00' x 15.00'	10	n/a	n/a	0	n/a	12	n/a	n/a
Thistle	720	24.00' x 30.00'	15	36	50	50	40	n/a	18	22
Tulip	390	15.00' x 26.00'	15	n/a	n/a	n/a	n/a	12	n/a	n/a



# Four Points by Sheraton Hotel

- Four Points by Sheraton Hotel & Serviced Apartments is a 8-minute walk from 3 bus stops, entertainment hub, shopping mall, 2.5 km from Airport, 3.7 km from Aga Khan Palace and 5 km from Pune Golf Course.
- Modern rooms come fitted with flat-screen cable TVs and ironing facilities. A minibar and tea and coffee making facilities are provided
- This property is also rated for the best value in Pune!









Meeting Room	Dimensions (LxWxH)	Area (sq ft)	Theater	Schoolroom	Conference	U-Shape	Reception	Banquet
Peshwa Ballroom 3	40x16x10	643	60	25	25		60	60
Maratha Ballroom 1	46x20x11	919	90	30	35	25	90	35
Peshwa Ballroom 1	53x19x10	1,011	110	50	30	25	110	110
Maratha Ballroom 2	46x25x11	1,145	120	50	50	30	120	50
Maratha Ballroom 3	46x25x11	1,145	120	50	50	30	120	50
Peshwa Ballroom 2	53x24x10	1,273	150	48	48	25	150	150
Pre-Function Area 2	19x76x10	1,448						
Pre-Function Area	21x76x11	1,598						
Grand Peshwa Ballroom	52x43x10	2,239	250	95	100	65	250	180
Grand Maratha Ballroom	46x70x11	3,210	350	140	120	80	350	140



### The O Hotel

- The O Hotel is fashionable with a chic elegance that attracts all the senses through design, colors, lighting, art and music.
- The striking, bold interiors are conceptualized by renowned South African interior designer, Les Harbottle.
- Extensive banqueting space spread over 3600 square feet, including three private rooms and an opulent, column-less Ballroom. The Ballroom is connected with spacious pre-function areas.
- The space can accommodate round table seating for 160 people and theater style arrangement for 400 people.









# **Cost Implications**

Hotels	Hyatt Regency 5*	Marriott 5*	Conrad 5*	Four point by sheraton 4*	The 'O' hotel 4*	
Occupancy	Double	Double	Double	Double	Double	
Ground total	24754	25490	27698	22983	22440	
Flights	7700	7700	7700	7700	7700	
Grand Total	32454	33190	35398	30683	30140	

#### **Please Note:-**

- The above quote is valid for 50 delegates only.
- In case of any unprecedented hike in airfare, hotel charges or other service charges, the same will be levied extra.
- Flight rates are subject to the availability



#### **INCLUSIONS:**

- Accommodation in well-appointed rooms for 2 nights and 3 days each night of stay on double sharing basis
- Meals:
  - Day 01: Breakfast, Lunch and Dinner at the Hotel
  - Day 02: Breakfast at the hotel, Lunch at Osho Ashram or similar, Dinner at the Hotel.
  - Day 03: Breakfast at the hotel.
- Gala dinner inclusions: Unlimited Service of 02 veg + 02 non-veg starters for 2 hours.
- Alcohol <Blenders pride, Smirnoff, Old Monk, Kingfisher> for 02 hours.
- DJ with light and sound.
- All transfers in AC coaches on shared basis as per the itinerary
- All entrance fees as per sightseeing mentioned in the itinerary <Osho Ashram, Aga Khan Palace, Shaniwar wada, Pataleshwar Cave Temple>
- Return airfares

#### **EXCLUSIONS:**

- Event setup
- Any services not included in the above package as well as the itinerary
- Any expenditure which is personal in nature (like room service, mini bar usage, etc.)
- Any VIP/ PVT transfers
- GST as applicable
- Venue Rental
- Licenses on actuals
- Early check in / Late check out





